I o
oflf| s

B 50000000

[HFHHI

[HH

RS GFoF O
ofolg

nO0N®70]8noN0no e

Series Norma

600 - 15U UP TO 33U

Siono

[SLeiz|oleizlalelsll= el = clsT=le=e]
Spoponono

moEE

RN N e el R N K KT K e I A N

e el e ey e g o] e ]eleTel Tl Yol LT L deid el la leleisleleleloleloielesiols sl sl

Jaizicjzislcfeiy
NN

jsizisizjzsle)z o

ioio)

{=R=RS

= - R~ = = - = = =

o=

-3

== T = - = = = o =3




Safety warning — Do not climb on, rock, shake your rack. Only someone with good mechanical skill
and who has experience should install this rack. Never exceed the maximum load capacity. If you

didn't understood this instructions manual please contact us by info@barpa.eu

28 x
M5x10 bolt

32x
Méx12 bolt

16 x
M8x12 bolt

%9

16 x
M8 flange nut

°F

4
key

x

4 x

M12 adjustable
feet

IM_01_2 | date: 05/22 2/5

approved by: Rute Arauvjo



In this first step you will need the top cover (5), With the cable entry panel (9) and with the castors (10),
the bottom plate (8) and 2 x frame (6). Put the two parts assemble in the bottom plate with 24 x bolt M5*10 (A);
of frame ready to assemble this part like picture with

16 x bolt M8*12 (C) and 16 x flange nut M8 (D);

B - = - = -

With the cabinet in the vertical, assemble the mounting Grab the 19" rails (3) in the vertical and mount with 16 x
angle (4) with 16 x bolt Mé6*12 (B) in the horizontal sides bolt M6*12 (B);
of the cabinet;

IM_01_2 | date: 05/22 3/5

approved by: Rute Arauvjo



—
e R \;tr\ lf
A1 0 Q| P
. ok
T 9P N\
/ gp \
D ﬂ g d \
/ o \
/ gf?g 0 ol \
| Ol !
| ortae | Ol (0 i
\\ Bl Uof |0 % g / by
\ . . 3l
\ 0 g 0 J
g
olg N
- B N
o I
This installation step is optional I =~
This installation step is optional. With 2 x bolt M5*10 (A) Now assemble the front door (1) and the rear door (7)
fix this accessory to the frame; you choose;
o
\
/wj
Put the side panels (2) and... YOU are ready to go!
IM_01_2 | date: 05/22 4/5

approved by: Rute Arauvjo



Cautions - To avoid any damage please ensure that is adequate space between each unit for good

airflow. Take care to not exceed the 40°C - 104°F temperature.

Accessories you can use with your Norma:
« Blank Panel;

« Shelfs;

« Sliding Shelf;

« Drawer;

 Digital Temperature Unit;

« Unit Fan's;

« Cable Management;

» Password Lock.

IM_01_2 | date: 05/22 5/5

approved by: Rute Arauvjo



